
1390 SUPER ADVENTURE S, orange 2025 <2025><EU><F9903Y4>
INSTRUMENTS / LOCK SYSTEM

77832

Pos Part Number Description Additional Text Quantity

1 T03314069000 Dashboard 1.00

2 0800000600709 Collar bushing 6.2x8.6x6.85 8.00

3 A62614060000 Combination instrument support 1.00



4 69008021260 Special screw, M5x14 4.00

5 61314069051 DAMP. COMPONENT SPEEDOMETER 4.00

6 0738060225S Oval head screw ISR M6x22-A2-7 4.00

7 61911266100 Ignition lock KTM Race On 433  1.00

8 61911067020 Passiv transponder Race-on KTM 1.00

9 61911267000 Active transponder Race-on 433 1.00

10 0025080306S HH COLLAR SCREW M8X30 TX40 2.00

11 61907053040 Rope, emergency release Passen 1.00

12 0738060101 Oval head screw ISK ISO7380 M6 2.00

13 61907050000 Seat lock electric 1.00

14 A62611266010 Ignition lock adapter 1.00

15 0025080166S HH collar screw M8x16 TX40 SL 2.00


